Math 2255, Quiz #15, Spring 2013 Name KEY

Instructions: Show all work. Give at least 4 terms for each coefficient

ay, a4 for the solution to the
series. )

1. Solve the differential equation using series solution methods 2y’ — (x+1)2%" +xy=0

centered at x, = —1. - @H)\/ -y
69 " n e _ w
20 i i (A=)t D) "7 = (k) 2~ 2 G i (K1) S G ()
=2 n=4 n=o

£ A
~ S o (=" =0
n<o

Cad n-"0 \("f’ _ N O W =
Z Q0w =00~ 5 i G E S )
= 1= nso MO

oo ntl 2 v = N 4
Z?am-% ((M_}> (r\(fz_,) ()(’t (> p%an a (ke 0 e %&"‘ (xe \3"‘*‘( N Z Ain+y éﬂ)m’:O
=1 = = h=-y

Aoy (2)( 0@’7)-\—9 da, <3>(2)Q(rll)+ Z Qansy ((/\—(-3) () ()&-HBM‘ - ia“”" (x< ()M‘
000 + 2 (Y™ = o ¥ = @y et - S, (o)

h=0
S 2 \
= [9603 D) =00 + G = Airey (1Y
e aVlCOI—-v\B
Y02 —ao = O=D ar = 4 as

— = — SR I =
|3+ Qo — R) = = Az = [3aq /’é.ao
Revs = Ginyy = Oin (w1}
MT’( :’l. ([". § l‘r ’I‘_, $1-Y ;.)f.'.-,f"_ . ‘{,’ 11 )
&1{ = :
az R AT
. 2 /‘/K{ Y 24 (Lf ° 9 288
as = a ey N/ s
arsvay 1 — = _ /A m o N : = A
ned HIAH) C)/( s)Lu) 4 "-‘i |2 A ’,_..-J Jol 1 Qo) Z/XDQ' -‘_q(o do
ﬁ = .5{ .f.il - " ‘.__..{: 2 {K‘“ _ L ) _’_\ _ - = 7-3
1 a(e)(s) 2@Ds> T ko élg a°> T 2o A é‘a")“ "J"_"”a' s#00%e
_ | 2 2
y'“ ao (‘ €+t Z \#( 'y P = _‘_ Bl




